
 set 4 AREA:  Lodz Ghetto   start=34340 tc = 38163 numrows = 7
numcols = 31 cyl_size 38163 comp = 2.170000e+002 (1,1)

Lodz Ghetto ehb  fcel 19th Sivan oeiq hi

1/25:34iawrpzpeyrlnglpefcircniyek`ilie1/25:34

1/47:11nixinahavx`dvx`aqqnrxxy`kdevrxt1/47:11

2/22:23nkipninzin`kqtdelzz`inrz`iprdnr2/22:24

3/06:20dilqakznewnaycwlkeiyxgxy`lyazea3/06:21

4/01:18dpydlrnenzlblblxy`kdevdiedz`dyn4/01:19

4/21:34xziyrpgiqlklnixn`dxy`ayeieaygap4/21:34

5/07:13kkxekaxdkxaeixtahkpixtekznc`cbp5/07:13

          4 fcel


